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Budynek 13, Lokal b a
Pu= 150,23 m2

Pow. dziotki

= 131,0me

PARTER PIETRO | PODDASZE
Lp | pomieszczenie m2 Lp | pomieszczenie m2 Lp [ pomieszczenie |m2
1.1 | wiatrotap 4,47 | | 2.1| komunikacj 5,99 |[3.1] schody 1,82
12| garaz 16,35| [2.2] pokd] 14,96][3.2] pokd] 28,94 (48,39)
1.3] we 1,52 | [2.3] tazienka 6,87
4 | komunikacj 6,80 4| pokgj 15,38
5| schody 1,95 5| pokdj 11,39|
.6 | kuchnia 6,90 6| schody 3,65 |
.7 | pokéj dzienny 23,24

[61,23] [ razem pietro [58,24] [ razem poddasze [30,76

[razem parter
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